Question Bank

Class- IV

Subject — Mathematics

Very short Answer Type Questions(VSA)
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10.

11.

12.
13.
14.
15.
16.
17.

18.

19.
20.
21.

How many faces does a brick have?

How many corners does a brick have?

How many edges does a brick have?

Name any place where you have seen the’ Jaali Patterns’.
Draw a brick showing its four faces .

Which of the following lines have the shorter distance?

A B C D
Draw a cup one centimeter shorter than this cup.

Who isThe tallest member in your family? Guess his/her height also.
Guess your height in centimeters?

There are four dates of birth given below. Mark the oldest person.
(a) 14-12-2004 (b) 08-06-2004 (c) 03-02-2004 (d) 11-09-2004
Which pair of numbers add to make more than 5007?

(a) 152 and 241

(b) 99 and 299

(c) 321and 192

(d) 401 and 91

At what time does the Sun rise at your place?

When does The Sun set?

How long does your school assembly take?

Draw front view of a car or a bus.

Try to draw pictures of a shoe from the side, top and front.

Ask people and find out the cost of a cup of tea-

(a) At atea stall

(b) At a hotel

Someone takes a loan when he/she

(a) Has to buy a ----------------—--

(b) Hasto buya

1 litre = ml

1 litre = x 500 ml

1litre= x250ml



22.
23.
24,
25.
26.
27.
28.

29.
30.

1litre= x200ml

Draw a shape by using your water bottle cap.

Which type of shape did you get?

Name two things around us which have circular shapes.

lcm= mm.

Draw the radius of a bangle by using a ruler and measure it.

What part of the whole is coloured ?

1 Meter = cm

7% meter = cm
Short answer type questions

1.
2.
3.

10.
11.
12.

(a)

Draw a’ jharokha pattern’ on the wall.

Draw a square using bricks.

Take one brick and measure it

(a) How longis it?

(b) How wide is it?

(c) How highisit?

Fill in the blanks :

(a) 2500 meters= kms

(b) 5000 meters = kms

Ram is going to Burfi Nagar which is 20 kms away. Shalini is going to Idlipur which is 25 kms
in the opposite direction . How far is Burfi Nagar from Idlipur ?

20km 25km
How much do you walk every day to reach school?
One bus can carry 50 children. How many buses are needed to carry 200 studens?
In one minute , how many times can you -
(a) Jump up and down
(b) Skip a rope
How old were you, when-
(a) You first sat up
(b) You got your first tooth
1 Kg newspaper costs are RS 8. Find the cost of 30 kg newspaper.
Kiran gets Rs20 for 1 rickshaw. How much will she earn for 9 rickshaw?
How much do we need at a time?
eye drops

(b) milk



(c)

13.

14.
15.
16.
17.

18.

19.
20.

water for taking bath
Rohit’s water bottle hold 1 litre of water. He drank 200ml of water and his friend drank
250ml . How much water is left in his bottle?
The radius of a circle is 6cm . find its diameter.
There are 60 mangoes .1/2 of them are ripe . How many mangoes are ripe ?
There are 32 children . Half of them are girls.How many children are girls?
There are 20 stars . A quarter of them are red . How many stars are red? How many are not
red?
Ravi wants a pencil. It costs Rs 2.He gives a one rupee-rupee coin,one half- rupee coin and
one quarter- rupee coin. Is it enough?
8 legs mean 2 cats.12 legs mean how many cats?
Leela has not gone to school for 21days.for how many weeks was she away from school?

Long Answer Type Questions

1.

The rate of 1000 bricks is Rs 3500.Ramu needs 3000 bricks to build his house.How much
money will he have to pay for the bricks?

(a)Who is the tallest and shortest student in your class? Guess their heights in cms and find
the difference in their heights.

(b)About how many meters high is your living room?

3.The cost of 1litre petrol is Rs 70. What will be the cost of 45 litres of petrol?
4. Write which dates theses stand for-(One is done for you)

(a) 5-5-06 ----------------- 5Ma, 2006

(b) 20-05-2006

(c) 07-06-06

(d)01-04-07

(e) 02-03-11

4. Change 12-hour clock in to 24-hour clock to fill the table-

Time by 12-hour clock Time by 24-hour clock
1 o’clock in the afternoon

14:00hours
3:30in the afternoon

18:00hours

5. Write the answers-

(@) 2x6=-------m-mm--- (b)20x6=




(O =]0) C Ep—
--------- (d)70x50=




